Opérations avec deux fractions mixtes (A)

Date:

Calculez chaque résultat.

Nom:
1 5; + 21—53 =
2 4% = 5% =
3 5% +2= =
4 52 X 11—23 =
5 1% 5% =
6 5% + 31—31 =
7 1% X 5% =
8 3% +~5- =
9 5% + 31—61 =
10. 5% — 2; =

Note:
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Opérations avec deux fractions mixtes (A) Réponses

Nom: Date: Note:
Calculez chaque résultat.
X 5§ 23_@ 2 520+217_737_82
S 770713 7 13 91 91 91 = 91
1 9 16 9 3 27
2. 4=+ 55 - 5 -~ ? z X ]__6 - 5
2 43 8 43 3 129 1
RT3 T RT3 T %Ry T es T ea
3 2 23 15 345 33
Pl =TT m T %
1 3 7 23 161 17
5. 16 X SZ = 6 X Z ﬁ = 6%
] 5%_'_33_2 ﬁ 187+108_295_82
-3 11~ 3 11 33 33 33 33
1 1 4 16 64 1
7. lg X 55 = § X ? ? = 76
¢ 3252 7.4 17 7 _ 119
' "T7 7 5740 200
. 51+3£_1_6+£ 176+117_293_8§
-3 11 3 11 33 33 33 33
1 5 16 19 112 57 55 13
09372 ST T 0T T o T

MathsLibres.com




